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50 3.5kg 1.2kg
10

12,18,23,29,35,3.6,3.8,4.0,4.3,5.1kg



200

200

20

10kg/m?2

5.0kg

20

5.0kg

2004

11

9




2.0kg
4.61< u <5.39g
4.61< 1 <5.39kg

100

10

100

2004 11 9

100 5.0kg
95

95

461 5.0kg 5.39

95 100 5

100 0 100




2004 11 9
100
|
10 494 u|i|“iI'Iii“h”””liiiillH!|!Iiih||li I}:l“!:!;;-!;!ul!”i:i i :!:'}iiilli!!!i'l!il!lii
95 |
0
100
10
99 40,44
0
n
n
X S
S
SE.=—
Jn
95 u  X-1.960S.E.< u<X+1.960S.E.
99 X—2.576S.E. < u <X+ 2.576S.E.

0.025

)
X —1960S.E.

100

95

99

s

T
X —2576S.E.

| —

960S.E.

|

+

95

99

120g 10g 95

120-10/+/100 x1.960 < 1 <120 +10/~/100 x1.960

118.04 < 1 <121.96

120-10/+/100 x 2.576 < 12 <120+10/+/100 x 2.576

117.424 < 41 <122.576

T
X +2576S.E.

99



2004 11 9

NORMINV
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